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QUESTION 1

An organization\\'s datastores are configured in a fully automated Storage Distributed Resource Scheduler (SDRS)
cluster. The vSphere administrator determines that virtual machines are being migrated between datastores even
though the datastores look evenly balanced. On further investigation, the administrator determines that the datastore\\'s
utilization differ by 2%. 

Which Storage DRS setting should the administrator change to prevent the virtual machines from migrating
prematurely? 

A. Edit the Storage DRS cluster settings to increase the percentage of the Space Utilization Difference threshold 

B. Edit the Storage DRS cluster settings to increase the percentage of the I/O imbalance threshold 

C. Edit the Storage DRS cluster settings to increase the size of the Space Utilization Difference threshold 

D. Edit the Storage DRS cluster settings to increase the size of the I/O imbalance threshold 

Correct Answer: A 

 

 

QUESTION 2

An administrator needs to manage a virtual machine that cannot be accessed directly from an external network. Which
solution should the administrator choose? 

A. Power off the virtual machine and use the vSphere Web Client to open a console to the virtual machine. 

B. Install the Client Integration Plug-in in the Web browser and open a console to the running virtual machine. 

C. Install the DCUI plug-in in the Web browser and open a console to the running virtual machine. 

D. Power off the virtual machine, install the Client Integration plug-in, and open a console to the virtual machine. 

Correct Answer: B 

 

 

QUESTION 3

Which two network settings are available on a vSphere Standard Switch? (Choose two.) 

A. Ingress traffic shaping 

B. Egress traffic shaping 

C. Private Virtual Local Area Networks (PVLAN) 

D. Virtual Local Area Networks (VLAN) 
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Correct Answer: BD 

 

QUESTION 4

A new LUN from an existing storage array is presented to a vSphere cluster. A vSphere administrator determines that
the LUN is visible on all but one ESXi host in the cluster. The affected host is able to see existing LUNs presented from
the same storage array. 

What is the most likely cause? 

A. LUN Masking is improperly configured on the storage array. 

B. The SAN fabric is improperly zoned. 

C. The ESXi host has NOT been rebooted. 

D. The HBA in the host is incompatible with ESXi. 

Correct Answer: A 

 

 

QUESTION 5

-- Exhibit -

-- Exhibit -A vSphere administrator created a Virtual SAN and a relevant virtual machine Storage Policy. The
administrator is unable to select this virtual machine Storage Policy when creating a new virtual machine. 

Based on the exhibit, why is the administrator unable to select this virtual machine Storage Policy? 

A. The administrator did not enable the virtual machine Storage Policy per compute resource. 

B. The ESXi Host license does not support virtual machine Storage Policies. 

C. The vCenter Server license does not support virtual machine Storage Policies. 

D. The administrator did not create a storage policy for the datastore selected for the virtual machine. 
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Correct Answer: A 
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